244 F1E (3A) mESE (EHR)

miEE _
PRBEEELT—REHBETE ($82)

FHEER

HIERTDOTEEE 28, 7150, 451 (AL - TH)
HETHEE A 332,913
HEROTEEE 28,417,538
F1& BARHFTEMLE
OFXLZAR
mA
15K ¥ 97, 500
ERFL GEN) 38, 500
72X 2B 59, 000
108 HhARfHR 551, 197
e 3 A2 A B 551, 197
128 HEERUVAEREE A 5 358
bRAL 6 L FEIFF R FHEAHE A 4,375
138 FEAHRUFHH A 125
148 EEXHE A 217,097
T L Y EAHSE A 259,098
INSE R S % e B PR 4 30, 033
7N AR i BR B O AR A 4 81, 735
158, BEXHE 237, 384
Hik-S< 0 “BFy LY HEERB 4 A 13,728
FRVMEFES D R4 258, 150
SR R AR R i (e A B 4 52, 275
18 BAE A 890, 254
MBI A\ & A 104,721
TUIH BT R Ve 7K S5 2 ) SR B A A\ 4 A 805, 832
198 oy A o 92,634
208 FEUNA 18, 406
B RIBATBCEE S A IRIETRR B AN 11, 951
218 HE A 217,200
JT EH i A 30, 300
HEEEY X o BiHEEE A 379, 400
HR SR i A i S A 256, 500
mH
(E3XRMWIETE - 4RMHETERER) 761, 944
e Ak FEL R A T A
Ll o6 RS (RVERES D (JAZ E M & —0 558 150
RAT4a) HE v NBRET A A ’

2




DK, KAH, BHEZE, B,

o | 6 FESE R E R L AR R (R |2 D R H X D KBS B ff 5 L05. 802

HHE @\ AR HIX D - FE H /K it ’

AR HLA R A
3 | 10 [/t E b 3 %g%iimmﬁiﬁ@mg 18, 165
4 | 10 [Pk R %Eﬁ%@ﬁbﬁ%ﬁ%@? 37, 167
5 | 10 |t hiax oL ¥ %ig@mﬁﬁﬁﬁ‘ﬁﬁ% 342, 660
=} H 761, 944
12X BEE 174
2 BLEE 468, 535
M BFRFE L RS 4 542, 988
TR A 32,636
3 R4EE A 268, 030
[E AR R a3, R e & A 9,988
FEHLFYE A 227,000
it 5% PR R VB 15 B SRR ok SR S 2E A Bh & 13, 350
4 R BHHEE A 76,121
HALFE R & B i S Al B & A 29,470
U PR AV Jie 5 Sl o A 30,753
6 =X EMKEXE A 589, 112
M - KPR B SR B4 A 22,918
EVAS S =g A 805, 832
7 & BIE A 19 24]
7T H T U ERE AR ek A R i A B A A 10,817
8 M TKE A 457, 456
N EA FE TR R & A 404,962
Bt R A 6,423
9 =X HIFE A 9, 041
108 HBEE 352, 945
118 KEERE A 7,245
128 NEE 2171, 685
B4 (i EEREITTE) 302, 792
e (EEEF]T) A 31,107
Foxk BRUHAHE
(BAZ - T-H)
HEL & FH

ATERE (RVWEESS D RfH4E) F¥ 258, 150
TSI 44 B S L S S el A 65, 000
S e 342, 660

B3R

L1453
RBE/BTARE

&5 1,002, 806




ol (fiz 1)
HIH HIH RE %A
(1) ﬁé;&ﬁﬁ*f%ﬁ%ﬁﬁiiéﬂ% VR4 9 979
il ~ PR 284S ’
T4k HMARBEIE
ALl (BEAL - FH)
FED B fH1E R4 fiH I8 MR %8
JT R 2 229, 600 A 30,300 199, 300
HEAEY X o BHE¥E 851,300 A 379,400 471, 900
HR AR Tt e B A = 45, 800 256, 500 302, 300
R4




